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0 -1 0
Si Al=12 1 — 11, entonces obtenga A, usando operaciones
1 0 1
elementales.
(60 puntos)
Solucioén:
0 -1 0 | 1 00 1 0 1 | 00 1
AYDNH=1{2 1 —-11] 010 —="82 1 —11]010
1 0 1 | 0 0 1 0 -1 0 | 1 0 0
1 0 1 | 00 1
S B(E2+R g -3 ] 01 =2 _, B(1)+F
0 —1 0 | 1 0 0
10 1 | 00 1 10 1 | 0 0 1
01 -3 ] 01 —2| =580 1 -3 o0 1 =2
00 -3 | 11 —2 o0 1 | —-1/3 —1/3 2/3

101 | 0 0 1
| =1 0 0| —
| —1/3 —1/3 2/3

=
o
w
S~—
+
e
o O
O =
)

o | 1/3 1/3 1/3
0] -1 0 0
1 | —1/3 —1/3 2/3

/3  1/3 1/3
Finalmente, (A ) l1=4=| -1 0 0
~1/3 —1/3 2/3



